or Husgvarna Parts Call 606-68-9623-0r-606-56174983—

SERVICE | ¢

3
i
]
i

fam P Gt 1 s

woes. > 281/298/2101

NEW AV-SPRING COMPL. AS A SPARE PART

In order to simplify the spare parts inventory, we have introduced the same spring as a spare part
for the models 281/298/2101. The spring holders in this spring compl. have thread inserts of
aluminum and therefore 2 pieces of M5-screws are enclosed.

Also compare with service bulletin 1: X 87.119-26.

New Ref. No, Description Excluded Ref. No. Remark

503 50 65-01 AV-spring compl. 503 49 62-01

503 20 00-01 Screw M5 x 20 Note! Isincluded in
503 50 65-01

NOUVEAU RESSORTCOMPLET ANTIVIBRATION EN PI ECE DETACHEE

Pour faciliter la gestion des piéces détachées, un seul estméme ressort est introduit pour les
modeéles 281/298/2101. Les fixations de ce ressort étant munies d’inserts taraudés en aluminium,
2 vis M5 sent livrées avec lui.

Cfr le bulletin de service 1 : X 87.119-31.

Nouvelle réf, Denomination Ancienne réf. Notes
5035065-01 Ressort compl!. antivibration  5034962-01
5032000-01 Vis M5 x 20 Livrée avec 5035065-01

compl 503 50 65-01

503 20 OO-O‘I}

G
e (,,‘ /

1: X 87.122-96 8.7 10-87

WWW.mymowerparts.com

e i R A

© X 87.122-96



